Name ________________        SPH4U Unit 2: Impulse & Momentum Lab      Inquiry L 1 2 3 4 ___/5

Learning Goal I will  investigate the laws of conservation of momentum by carrying out experiments and analytical procedures 





        ROUGH WORK (Draft)

Equipment: ‘Helmet’ launcher & car. Instructions: Load car into launcher. Press button to release. Record the distance travelled and the time for the car to come to rest. Repeat three times.

	Chart 1
	Trial 1
	Trial 2
	Trial 3

	Distance (m)
	
	
	

	Time (s)
	
	
	

	Vaverage (m/s)
	
	
	


1. From your vaverage data above, calculate the v1, ie, ‘launch velocity’, as the car emerged from the helmet. 

2. The car underwent a momentum change, mv, in each trial, coming to rest. From your answer above, determine the momentum change of the car for each trial, from the launch velocity until it came to rest. 

         trial 1:


 trial 2:


    trial 3:











 average mv = ______
3. Launching the car: Momentum changes are the result of impulses applied to an object. An impulse is defined as the product of a force applied for a period of time, F.t. Identify the source of the force which acted to launch the car from the helmet. Make a guesstimate as to the time, t, in which this force acted on the car while being launched. Then use this value of t to solve for F in each of the trials. Why do we call it Faverage? Guesstimate: t = _____ s
    trial 1:

             trial 2:


                trial 3:












average F = ____
   F1 = _____ N

F2 = _____ N


F3 = _____ N
5. Since Newton’s 3rd Law applies to this activity, why did we not see the effect of an impulse applied to the helmet? 
How would this effect be observable if the helmet launcher device was sitting on a frictionless surface when the car is launched? 
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Mass of car = 29.5 g 
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